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No calculator

1. Cole already has 75 flash cards.

He gets given 36 flash cards and puts them in a box.

How many flash cards does Cole have altogether?

1. . . . . . . . . . . . . .

2. Claire has 79 rawlplugs.

She buys another packet of 48 rawlplugs.

How many rawlplugs does Claire have now?

2. . . . . . . . . . . . . .

3. Carter has 86 nails.

He buys another packet of 96 nails.

How many nails does Carter have now?

3. . . . . . . . . . . . . .

4. There are 85 children in a cinema.

There are 67 adults in the cinema.

How many people in the cinema?

4. . . . . . . . . . . . . .

5. Sebastian has 85 washers.

He buys another packet of 48 washers.

How many washers does Sebastian have now?

5. . . . . . . . . . . . . .

Answers 1) 111 2) 127 3) 182 4) 152 5) 133
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